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Column A Column B

—— 3. 1 told my classmates that Kaboing! shoes do not
help vou jump higher and that regular sneakers
work better.

. Ask a question.

. Form a hypothesis.

- . — . Test the hypothesis.

— 4. I wanted to know, “Will wearing Kaboing! shoes o Yl 7
help me jump higher?” . Analyze the results.

—— 5. | jumped [ive times in a pair of Kaboing! shoes . Draw conclusions.
and recorded the height each time. After resting
for 5 minutes, | repeated the test wearing my

sneakers,

- o & 0 v p

. Communicate the
results.

—— 6. 1 thought I'd jump higher in Kaboing! shoes
than in my sncakers.,

—— 7. I jumped higher in my sneakers than | did In
Kaboing! shoes. Kaboing! shoes do not help me
jump higher.

—— 8. The average height for the [ive jumps in Kaboing!
shoes was 35.5 em. The average height for the
five jumps in my sneakers was 36 cm. On average,
I jumped half a centimeter higher in my sncakers
than I did in Kaboing! shoes,

Math in science:
1. a cereal box has a mass of 340g. its dimensions are 27cm x 19cm x 6 cm. what is the volume
of the box?

2. Each of two cement building blecks has a volume of 2.5L. The mass of block A is 5kg, and the
mass of block B is 7kg. find the difference in the densities of the two blocks (density = mass /
volume)

Variables & Controls:

3. Imagine that you are conducting an experiment in which you are testing the effects of the
height of a ramp on the speed at which a toy car goes down the ramp. What is the variable in
this experiment? What factors must be controlled?

Part 2: Calculating Area
Now that you know how to find the perimeter of the garden, you are ready to plan what

to gr

ow. How much planting soll will you need? How many plants will fit in the garden?

To answer these questions, you will need to know the area of the garden. Area (4) Is the
number of square units needed to cover the surface of a figure. The equations below will

help

Are

vou find the area of some common figures.

EQUATIONS: Area of a square = side X side
Area of a rectangle = length X width
Area of a triangle = 12 * base X height

SAMPLE PROBLEMS: Find the area (4) of each of the following figures:

4dm
Square |[5m I:I dcm
9cm 3m
A =side x side A= length ¥ width A= 12 * base X height
A=5mx5m A=9cm x 3cm A=12><3m><4m
A=25m? A=27 cm? A=6m?
a Alert!

3. Find the area of each figure below. Hint: When finding the area of Irregular figures, first
divide the figures up Into triangles, squares, and rectangles and then add thex indwid-

ual areas.
a. b. C.
im Mm
12cm
am
3ecm
A= A= A=
35cm
d. e 06m
18cm
3.5m
ul 1 1
20 cm 3m 3m
A= A=




~

Finding Volume What Is a Ratio?

Volume (V) Is the amount of space something occupies. It 1s expressed in cublc units, Imagine that you are planning a sclence experiment for your class and you want to

% 3 .
;zclcl)]\:st;gg:&:&if{:]g?c?lj:;i col;bclljg::;ﬁgetfgnim ) Usadin aquatony TorYolurna make sure you have enough beakers for everyone. What do you do? Well. you could
p ' simply count the total number of beakers you have and compare it with the number
S o of students In your class. You may not have realized It, but you just made a ratio! A
EQUATIONS:. Voluma of a cuba = sida X sida X slda ratio Is a comparison between numbers, and can be written In words (3 to 7). as a frac-

Volume of a prism = area of base x height
SAMPLE PROBLEMS: Find the volume (V) of the solids.

tlon (3/7), or with a colon (3:7).

PROCEDURE: To find the ratlo between two quantities, show the two quantitles

gix as a fraction, and then reduce. The result Is the ratio.
7 am SAMPLE PROBLEM: Find the ratio of thermometers to students if you have
A 36 thermometers and 48 students In your class.
m
6 m Step 1: Make the ratio. 36 thermometers
48 students
V = side x slde x side V = area of base X height Step 2: Reduce. 36 _36+12_3
V=7cmx7cmx7cm V = (length x width) x height 48 18 =12 4
/= 3 f = X X 3
ysa e t i 1(31461;3 % ; ::) i The ratio of thermometers to students Is 3 to 4, 7, or 3:4.
V=128 m?

" Wildfl R h Result
Turn Up the Volume! ervlatstateid ol

1. Find the volume of the solids. Average number of | Number of | Species currently
.a b Field | flowers (per 10 m?) species flowering
‘ 1 51 12 9
5m 35am
2 17 1 7
I m 3 22 22 20
10m

Analyze Your Data!
e = I. What 1s the ratio between the currently flowering species and the total number of
species of flowers In Fleld 1?

c d.
3cm
2. What 1s the ratlo between the number of specles currently flowering In Field 1 and
8cm 300 cm Field 2 and the number of species currently flowering in Fleld 3?
1l 6cm
0.25¢cm OoCm
Ve Ve 3. What 1s the ratio between the number of specles currently flowering and the total

5 bel ; all thr ?
Challongo\oursolﬂ number of flowers in all three fields

2. Arectangular-shaped swimming pool is 50 m long and 2.5 m deep and holds 2500
m* of water. What Is the width of the pool?



. Chapter 1 Performance-Based Assessment ~——

MATERIALS

sandpaper

2 new, nontapered
wax candles (about
20 cm long)

2 dishes (25 cm deep)
hot water and ice
water

2 metal spoons

Objective

You've read about the sclentific method. Now you will have a
chance to put It to use by performing an experiment and by
designing a new experiment. In this activity you will place one
candle In ice water and one In hot tap water. You will observe
any changes that occur. Then you will design a stmilar experl-
ment using the sclentific method.

Know the Score!

As you work through the activity, keep In mind that you will
be earning a grade for the following:

¢ how well you work with the materials and equipment (30%)
¢ how well you state your observations (40)

« how well you analyze and explain your observations (30%)

Ask a Question

How does temperature affect the expansion and
contraction of solld matter?

METHOD

Make Observations

1. Use the sandpaper to sand the ends of the candles so that
they are exactly the same length.

2. Fill each dish about 5 cm deep with water. Use Ice water In
one dish and hot tap water In the other dish.

3. Place one candle In the dish containing hot water and one
candle In the dish containing cold water. Place a spoon on
top of each candle to keep the candle from floating. Leave
the candles In the water for 10 minutes.

Form a Hypothesis

4. How do you think the hot water and Ice water will affect
the candles?

Test the Hypotheses

5. Remove the candles from thelr dishes. Describe any differ-
ences you see In the candles.

Draw Conclusions

6. What does the difference in the two candles tell you about
the relationship between heat and the size of an object?

7. Based on your answers to the questions above, explain why
there Is a need for expansion joints In train tracks, bridges,
butldings, etc.

Use the scientific method to answer the following questions.

8. Are bicycle tires less likely to need additional air on a hot
summer day or on a cool fall day? Formulate a hypothesls.
Keep In mind that materials expand when heated.

9. How might you test your hypothesis?

10. From what you learned In this activity, give an explanation
that supports your hypothesls.




